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b)fixed at x = o and free at x=L

S bl

W(O,t) = °7Wm(°at) = OaW:v:v(lat) = O,me;(%t) =

Cy = C¢,Cy = —Cy

ct (cos h(BL) + cos(BL)) + ey (sin h(BL) + sin(BL) = o

ce((sin h(BL) — sin(BL) + cy(cos h(BL) + cos(BL)) =

= cos h(BL) cos(BL) = —\

8L = \.AYO, £.14F, Y.AAD, 10497, \F.AYY

AN



= —cp = (sin h(BL) + sin(SL)
‘ (cosh(BL) + cos(BL))

Pl ady, by (sesee S

W (x) = sin h(Sz) — sin(Sx) — n;(cos h(Bzx) + cos(Sr)

c)free at x=0 and x=I

y(x) = Cysin(fx) + ¢y cos(fz) + ¢y sin h(Sx) + c¢ cos h(fx)
o b

yZL’ZL’(th) = °7y$$$(°7t) - °7y$$(l7t) - onZL’ZL’ZL’(lJt) =20°

C\ = Cy, Cy = C¢

ey((sin h(BL) — sin(BL)) 4 cy(cos h(BL) — cos(BL)) = o

cy(cosh(BL) — cos(BL)) + ey (sin h(BL) 4 sin(BL)) = o

(sin h(BL) — sin(BL))(sin h(BL) + sin(SL))

—(cosh(BL) — cos(BL))(cosh(BL) — cos(BL)) = o

cos(BL)cosh(BL) = \

AY



BiL = £.YY,Y.AOY, 10.990, YEAYY, \ V.Y YA

d)free -fixed at x=0 and x=L

fa“W L oW o'W
ozt otY

W(x,1) = F() % g(¢)
Wa(e) = o Waaa(0) = Wa(L) = Waaa(L) = o
f(x) = Oy sin(Bz) + ¢y cos(Bx) + ex sin h(Ba) + ¢x cos h(fz)
Cy4er=0,—Cy4cp=o0
=y =¢p=o0
= sin(fL) = © = f = —

=Y (Acos(wyt) + Bsin(wyt)) sin(n%x)
n=>\

Bil = Y NE, VYA, (n— V)7

AY



e)simply supported at x=0 and fixed at x=L

C\;a*W N oW
ozt ot’

W (x,t) = F(z) * g(t)
W(e) = o, Wy(o)=W(L)=W,(L) = o
f(z) = Oy sin(Bz) + ey cos(Bz) + ey sin h(5x) + cx cos h(Sz)
=cy=cCf =0
cysin(BL) + ey sin h(BL) = o
¢y cos(BL) + ey cos h(BL) = o
= sin(BL) cos h(BL) — sin h(BL) cos(SL) = o

tan(SL) = tan h(SL)

a = (SL)

AY



i = YAV, V.0 A

f)simply supported at x=0 and free at x=L

C\;a“W N o'W
ozt otY

—= O

W(z,t) = F(x)* g(t)

f(z) = Cysin(Bz) + ¢y cos(Bz) + ey sin h(Sz) + c¢ cos h(fx)

: pls Tt Jlael

CY:szo

—cysin(fBL) + ey sinh(BL) = o

—Cy COS(ﬁL) + cy cos h(ﬁL) = o

= —sin(BL) cos h(SL) + sin h(BL) cos(BL) = o

AO



tan(SL) = tan h(SL)

a = (BL)

a; = YAV, V.0A

g) simply supported at x=0and elastically supported at free end x=L by

a linear spring of stiffness

EIyIII(l7t) +’7y(l7t) - °7y$$(lit) - ymm(oat) = yIII(th) =20°

y(a,t) = F(z) * g(t)

f(z) = Cysin(Bz) + ¢y cos(Bz) + ey sin h(Sz) + c¢ cos h(fx)

F o b Jlesl

Cy = C¢, Cy = Cy

—cy sin(fl) — ey cos(Bl) + ¢y sin h(Sl) + c¢ cos h(Sl) = o
B%(—cy cos(Bl) + ey sin(Bl) + ey cos h(BL) + c¢ sin h(BL)+
%(C\ sin(fx) + ey cos(fx) + ey sin h(Bz) + c¢ cos h(Sx)

AT



a = L
E1pY

¢y (— cos(Bl) + asin(Bl) + cos h(Bl) + asin h(Bl))+

ey (sin(Bl) + acos(Bl) + sin h(Bl) + acos h(Hl))

T (oo Candy b €y, or el o Sline 55 apulowa b

h) simply supported at x=0and elastically supported at free end x=L by

a helical spring of stiffness 7

dy dy d dy
Ot — o Tz O’t :O’E)[—— —:07— — o
y(e,1) Yol 1) dz' iz dx( dx")

y(z,t) = f(z)G(1)

f(z) = Cysin(Bz) + ¢y cos(Bz) + ey sin h(Sz) + c¢ cos h(fx)
Pl bl Jlesl

Cy =Cg = ©

EI(BY(—cysin(BL) + ¢y sin h(B1))) — nB(cy cos(Bl) + ¢y cos h(Bl)) = o

EIBY(—cysin(BL) + ey sin h(Bl)) = cq

S
EIB

AY



¢y (sin(BL) — acos(Bl)) + ey (—acos h(fl) +sin h(pl)) = o

(sin(BL) — acos h(ﬁl))) _ ¢
—sin(BL) —acos(BL)” EIBf

ey (sin(BL)

T (oo Sk ulpo

i) fizedatr = candelasticspringsupportedatz = L(stif fnessy)
FESPRN

y(o) = yu(°) = yuu(L) = o, EIY" (1, 1) + yy(l,t) = o

Cy = —Cf,Cy = —Cy

cy[sin(BL) + sin h(BL)] + c¢[cos(BL) + cos h(BL)] = o

cy[EI(cos(SL) + cos h(BL)) — k(sin(SL) — sin h(BL))]

+ce¢[EI(—sin(BL) +sin h(SL)) + k((cos(SL) + cos h(BL))] = o

ET
cos(B1)

= tan(BL) x cos h(BL) + sin(8l) =

AA



f(z) = Cysin(Bz) + ¢y cos(Bz) + ey sin h(Sz) + c¢ cos h(fx)

dy dy d dy
o t — o 1 O’t :O’E)I—— —:07— I— — O
y(e,1) Y (0:1) dzr  Tix dx( d:EY)

S Jlael |y 550 L

Cy = C¢,Cy = —Cy

cy(sin(BL) + sin h(BL)) + ce(cos(Bl) + cos h(BL)) = %

¢y (sin(BL) + sin h(SL) + a(cos(Bl) — cos h(BL))+

ce(cos(Bl) + cos h(BL) — a(sin(BL) + sin h(BL)) = o

%)massMattachedtoitsendthebeamis fizedatx = oandfreeatx = L

Hint - y" + KB Ly(l) = o,y (L) = o, K = ——

f(z) = Cysin(Bz) + ¢y cos(Bz) + ¢y sin h(Sz) + c¢ cos h(fx)

Cy = —Cf,Cy = —Cy

cy(cos(Bl) + cosh(BL)) + kBL(—sin(BL) + sin h(SL)+

A4



c¢(—sin(BL) +sin h(BL) + kL(cos(Bl) + cos h(BL)) = o

cy(sin(BL) + sin h(SL)(ce(cos(Bl) + cos h(BL))

0



